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fAM: EXARX
M s8He 53 - AgHX 2
Eel AU 2ol 2P (SUHNZLEALELSA) &
- _ _ XN -
SN BB SR(S) - MRAY - BES skl e s
0 SHAIE 28 & g42FA 20,000 * 3 « 303l 1,800
O MM AEBHZA g3 20,000& * 3% * 20 1,200
O sSLSAIY &X g8 80,000& * 5% » 2& 33 2,400
O g=J1g IS =d 80,000& » 5H * 22 * 43| 3,200
O JIgsI s 42 80,000& * 5% « 53| 2,000
O S8 28 ol 80,000& » 5% * 43 1,600
206 M=l 8,500 8,500 0
01 Mz Hl 8,500 8,500 0
[ &AHEX 228 H=Hd 2+ 5,000& » 200 * 43| 4,000
Oz =A 228 Mg 7Y 15,000& * 30071 4,500
401 Al&HI LR OHYI 348,448 313,213 35,235
01 Al&HI 346,000 310,000 36,000
O &HEX St ZUISA 100,000& = 200m * 1JH A 20,000
O &ASHX W AMEES (22, A, F7 ) 10,000,000& * 32 30,000
[ &AEX W Jt2S EHIE= 10,000& = 2,000m * 1JH A 20,000
O X ZAA WA 50,000& * 2,000m * 2JH 2 200,000
(] AU EEX Kb A8 10,000& * 4,000m 40,000
O &SI EXE ZdI 600,000& = 5004 2 30,000
O AHEHX 222 =2 300,000& = 20E X 6,000
03 AIZ=20i4l 2,448 3,213 AT65
O S EEXIAlE EHl2te 340,000,000& = 0.72/100 2,448
HEX HiblE(SEHXZHAIEEESIH) 976,502 1,390,887 A414,385
APAEHX] Ol Bl 976,502 1,390,887 A414,385
801 OllHlbl 976,502 1,390,887 AN414,385
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